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class GDataNetCDF class GDataMem
(@netcdfvar  (NetCDFVar) (@ary (Narray)
@attr (Attribute)
Hash
I/0 (NetCDF)
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Hash

Hash
{“a7=>1, :a=>2}
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>
Class CoordReg
@coord : [ [x_axis, x_assist], [y axis, y assist],
1 GData

{:weight=> w}
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class GPhys
(@data (GData)
@coord  (Coord)
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Tx,y) x y 2 Tbar T

b=T-Tbar

T=GPhysRect.open(GDataNetCDF,  file = NetCDF.open(filename)

T = file.var(“t”)
filename) Tval = T.get

_ Tbarval = Tval.avg(0)
Tbar = T.avg(V) bval = Narray.float(*Tval.shape[1..-1])

= (T- for 1 in 0..(Tval.shape[0]-1)
b = (T-Tbar).copy(GDataNetCDF, bval[ 0..-1, j]= Tval[ 0..-1, j]—Tbarval[j ]

riewﬁléskeime\ end

newfile = NetCDF.create(newfilename)
NetCDF NetCDF

newvar = newfile.def var(“b”, “float”, newdims)

newvar.put(bval)
newfile.close




AdvancedDCL

NetCDF air.mon.ltm.nc

float air (lon, lat, level, time)
long_name : “Monthly Longterm Mean of Air Temperature”
units : “degC”

float lon(144)
long_name : “Longitude”
units : “degrees east”

float lat(73)
long_name : “Latitude”
units : “degrees north”

float level(17)
long name : “Level”
units : “millibar”

float time(12)
long_name : “Time”
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include NumRu
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gphys.contour
it

CONTOUR INTERVAL = 4.000E+00D

gphys.to2d(:dv1=>120).contour

i
gphys.to2d(:dv1=>[100,175], :dv2=>40).contour({"nlev"=>18})



require
include NumRu::AdvancedDCL
require

include NumRu

file = NetCDF.open( ) 150
air = file.var( )

lonname = air.dim_names[0]

latname = air.dim_names|[1]

levelname = air.dim names[2]

timename = air.dim_names[3]

lon = file.var(lonname)

lat = file.var(latname)

level = file.var(levelname)

time = file.var(timename)

airval = air.get({ =>[48,0,0,0], =>[48,-1,-
1,0]})
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Mapper

f.map(g)







ecach subset

bigdata.each subset(1){|sub| b bigdata
p sub.sum(1)
a 1 sub {1
h
ecach_slicer
1 Mapper

bigdata.each slicer{|i|
bigdata3[i] = bigdatal[i] + bigdata2[i]
h

ecach subset set ( )

bigdata.each _slicer(outputfile){[i|

a = sin(1) * cos(1)
a-1
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